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Loss, 1000°¢C 02

99.85

Fluorescent X-Ray
Shows Cal < 0.1%

Fe

= ,03%
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This analyses calculates to stoichiometric MghAl,0,; optical isotropic

n o= 1.715-17.20° Spinel a, = 8.0833
hicg 28(cuke, ) 28{Cuke)
i1 19.000 19.016
220 31.272 31.298
3i1 36.846 36.8B78
222 38,548 38.582
500 ki 810 44 850
122 55.656
511 59.358
40 65.236
531 68.628
620 7%.122
533 77.342
&22 78.L06
LBl 82,628
711 85,766
642 80.970
731 g94.096
80C 39,338
895 107.910
75 111.222
J 116,922
120,482
126,732
130,734
138.018
28(FekKa, 26{Faka)
23,942 23, 9%
39.596 35.624
L& . 802 46_.336
£9.018

57.

2540



hiz g
h22
Sii
440
531
620
533
622
iy
711
642
731
800

fe Radiation Used FeKa]
Feka
Cu Radiation Used Cui{aI
Cuka

<f

26{FeKa, )
71.840
76.960
85.284
90.218
98. 466
103.490
105.18%
112,126
117.562
127.309
133.801
146.672

= 1.93597
= 1.93726
= 1.54050
= 1.54178



